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Answer- Sheet    
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Each of the following questions counts 2 Marks 
 

  a  b  c  d  

Question 1              

Question 2              

Question 3              

Question 4              

Question 5              

Question 6              

Question 7              

Question 8              

Question 9              

Question 10              

Question 11              

Question 12              

Question 13              

Question 14              

Question 15              

Question 16              

Question 17              

Question 18              
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Question 20              
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Choose the correct answer and write it on the answer sheet on page 2 
 

1. If },,,{},,,,,,,,,{ whfaAwihgfedba ==ε , },,,,{ wigfbB = and },,{ hebC = ,then =∩∪ )( CBA  

 a)   },,,{ wgfa     b) },,,,,{ iwghfa      

 c)   },,,{ wigf     d)  },,,{ whfa  

 

 

2. If }integer,22,|{
2

nnnxxA <≤−== then  

 a)   }2,1,0,1,2{ −−=A    b) }4,1,0{=A      

      c)   }4,1{=A     d)  }4,0,1{−=A  

 

 

3. The shaded region in Venn diagram represents  

 a)   B      b) CB ∪    

 c)   BA ∪      d)  CA ∪   

 

 

 

4. =7 49    

 a)   ( )7

1
49       b)  4 79     

 c)   ( )749      d)   ( )4

1
79  

 

 

5. The simplification of  =







−

−
3

2

432
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nm
 

 a) 
p

n
76

     b)  
9

1268

m

np
   

 c) 
9

612

8 m

pn
                      d)  

p

n
78

 

 

ε  
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6. If  )(
2

ba
n

S +=  , and  2,8 == an , and 48=S , then =b  

 a)   6      b)  40     

 c)   2      d)   10  

 

7. The simplification of  )364()123( 22 −+−+− xyxxyx   is 

 a)   482 +− xyx     b) 482 −−− xyx      

 c)   482 ++− xyx    d)  482 +−− xyx  

 
 

8. The expansion of   =+− )43)(53(
2222

yxyx   

 a) 4224 2039 yyxx +−    b)  4224 2039 yyxx −+    

 c) 4224 2039 yyxx −−                      d)  4224 2039 yyxx ++  

 

 

9. The number  42 in binary system is equal  

 a) 101001    b)  100110  

 c)   101011                   d)  101010 

 

 

 

 

 

10. Solve for x:   2
6

2

3

1
=

+
+

− xx
     

 a)   4=x      b) 
4

1
=x      

c)   2=x      d)  
2

1
=x  
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11. The factorization of    23 25 bxx −   = 

 a)   )5)(5( bxbxx +−    b) )5)(5( bxbxx ++     

 c)   )5)(5( bxbx +−    d) )5)(5( bxbxx −−  

 

 

12. If  ℚ = {all rational numbers} and  ℤ = {all integer numbers}. Then ℚ ∩  ℤ = 

 a)  ℝ (real numbers)   b) φ  

 c)   ℤ  (integer numbers)   d) ℚ   (rational numbers)  

 

13. The factorization of   =−+ 872
xx  

 a) )1)(8( ++ xx     b) )1)(8( −+ xx   

 c)  )1)(8( +− xx     d)  )1)(8( −− xx  

 

 

 

14. The binary number  111001 in decimal system is equal  

 a) 32     b)   57    

 c)   53     d)   56 

 

 

15. The simplification of  
81

164

187

42
22

−

−
÷

−−

+

m

m

mm

m
  is 

 a)   
9

)4(2

+

−

m

m
    b)   

)4(2

9

−

−

m

m
    

 c)  
4

9

−

+

m

m
     d)   

)4(2

9

−

+

m

m
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16. The solution of 14)53()6(2 =−−+ xx     is 

 a)   3−=x     b) 3=x      

 c)   13=x      d)  13−=x  

 

17. The solutions of the equation   0592 2 =−+ xx       are 

 a)   5,
2

1
== xx     b)  5,

2

1
=−= xx     

 c)   5,
2

1
−== xx     d)  5,

2

1
−=−= xx  

 

 

18. The simplification of  =
+

−
− 23 w

w

w

w
   

 a)   
)2)(3( +−

−

ww

w
    b) 

)2)(3(

52 2

+−

+

ww

ww
     

 c)   
)2)(3(

5

+− ww

w
    d)  

)2)(3(

5

+−

−

ww

w
 

 

 

19. If   0372 =−− xx    then   

 a)   
2

617 ±
=x     b) 

2

617 ±−
=x      

 c)   
2

377 ±−
=x    d)  

2

377 ±
=x  

 

 

 

20. Transpose the formula  paap −=+
2

42  to make p  the subject : 

 a)   
2

1

−
=

a
p     b)   2+= ap     

 c)  
2

1

+
=

a
p     d)   2−= ap  
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Draft Paper 
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Draft Paper 

 

 

 
 


